INFINITI

Infiniti QX50: 2008 -

Automatic transmission case

AKIM

-

AN\
4

LIST OF PARTS

PART NAME

QTY.

Bolt M10x30

Bolt M10x50

Bush

Threaded insert

Washer 10

Installation manual

[ I N T S ISR N

PART NAME

QTY.

Bont M10x30

Bont M10x50

BTynka

3aknagHas

Lanba 10

NHCTpYKUMS

= |22 |IN|N

S
e

ISSUE 02




ISSUE 02




/5»‘
S
N '
Oy

M10 = 47 Nm

& i ‘ &
RIS w © Py
sOw i sOw

M10 = 47 Nm

ISSUE 02




